7

Rell Mo, v, Total No. of Pa: n@ pull af 20kN is applied to the ends, the waler pressure, road by the gauge, is SECTION-C {2 % 10 = 20 Marks)
Total Ne. of Quc;lluus 09 observed to fall by 0.075 nimm?, Neglecting any end cffects due to plotes,
determine the valee of Foisson’s ratio for the metal. Toke E for the
B.Tech.(CE) (Sem—l) wetal w 2.1 x 10° Nimm? and bulk modulus of water = 217 x 10° Nimm?,

7. The system of concentrated Joads shown in Figure below rolls from Izl lo
right across a beam simply supporied n span 40m, (he 6XN load leading.

STRIFCTURAL ANALYSIS-1 : For a section 15m from the left hand support, determine
- - < o H .
Subject Code : CE-208 A 3 A P cable in p from two piers 200 m cenler to B T e e
Paper 1D ¢ [AGS09] % center one support being Sm abave the other, The enble um n
— -:K_\%X ) unifermly distributed load of 15M/m and has its lowest po ﬁ b) The miimum shearing foree, g x\’
e ¥ Max. Mark®s 6o below the lower support. The cods of the cable arc artu 3 6N \
: & saddles on rollers at top of piers, The hacl\stnvs ny bc i b I &
INSTRUCTION TO CANDIDATES : assumed straight are inclined at 60° to the vcrlieal. D l’mllml;mlml 12
1. SECTION-A is COMPULSORY. ‘k ; = 5 ]x: | ag | 10 ;18 |
. e Y
2, Awtempt any FOUR guestions from SECT ION o 4 a)::(he:maximum;tenelon:of: tha cable '\ ! s = &\
3. Altempt any TWO questions from q|._(_"|‘|0r€2\k‘ ¥ b} the tension in the back stoys. l A0m: \b J
. ” 3 z o 8. From ab initio find the horizontal thurst, for the*two hinged parabolic
4. dam &ém high, 1.5 4.5 d he b
SECTION. \\) (10 % 2 = 20 Marks) Aemgsoney dam G ighi §ifut i deat : e i arch shown in Fig. The moment nflucr:é'nl’sny section is I sec 0 is
has its woler face vertical and rc1afi water upto Sm. Calculate the i " % 7 5
L Attempt all Parts - (bh maximum and minimum stress I)Ilel”‘ s of the hase, The density of : the slope at SF““’" ot _I= 3 momc%ﬁnuma at the crown. Meglect
v Q) the masonry is 26 kN/m* and 1 ﬁofﬁfvn[cr is 10kN/m?, fhgtolfack of b shoricning, i
a) What is thin cylinder? \ i ,
. ; 5. Abeam of length “L7 iz slnlpbﬁuppoltcd at its ends and carries point
b} What arc rolling 10\{"}‘- % lond of “W" at the ¢ lre T{ne moment of inertia of the beam is T
<) Defing absalute nmﬁ\mym bending moment. for the left half an ar the right half, Using eonjugate beam
i method cn]culnt g,%t cach end and of the centre. Also caleulate
d} Define the fm:ﬂnnx!h

4 t the dcﬂccu&ﬁu‘véenlrc
e) Construct n‘lﬂucnc: lines for reaction at lefl support A, shear anc . A plune truss is'Yoaded and suppocted os shown in Fig. Determine the
BM, -sgcl:un X of o simple beam.

pnitude of the forces in the members,

=

£ "
0, D\gﬁlue in arch, How an arch differs from a beam? 2N LR Dn\mh,mﬂncnc: lines for the bar forces in members ULy, ULg,

B te Eddy’s theorem and prove it, U;l}}x L3, and UzLz of the pratt truss shown in Fig.
N D Derive an expressian for the chonge in o suspension cable due to -~ \‘\& Uy Uy Uy Us Us U;
Fo temperature siress. ,% x
il Why is the determination of deflection important? 4
m
i) What is a perfect frame?
Lo Lg
SECTION-B {4 = 5 =20 Marks) £ Ly La 3 Ly Ls Ls L7 =
2. A thin cylinder of 100mm internal diameter and wall thickness 2mm has its - e § i 3m = 2 ———————————————{
ends closed by rigid plutes and iz then flled with water, When an external
[A-12]-716 - [A-12] ’ 14121
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